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(1) Siwadgl eflanméaEno sfwrs ufaurdl e-eTarsim eramugean sunisgis
Qamererald. F&sLIUSGIE Gpuimsen S|HDG 3;Gu'a’rasrr6mrﬂuunmrﬂ|_:,b
o L aniginss Qsflefésa)d.

smlUy @wulmar oL HGw TPHUSHGD

@) Beowd SO

<lg 6C5Tq HuUsHEGWD Lwertu(és Ceuam® . LILBI&ET euanfalsDE

Querdléd LWeTUBSSLD-

1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

Lig3) - 1/ PART - I

S|EMEVTSE SammésErs@ED oo weilésayb. 20x1=20
Qsr@&sLUL(Barem 5“637@? wron el sald e ghyeL L
GeLous Coibds0s85 GHELELE e @aajd GCETSS)

GTPSLD-

Answer all the questions.

propriate answer from the given four alternatives and write

Choose the most ap : !
tl1&.c;j51'espondmg answer.
o {

the option code and

[ HiBLiys / Turn over

www.freetnbooks.com | FREETNBOOKS



8342

www.freetnbooks.com

2

WereumGeurler sremi &8 eupsdld eag Qainuciu L e wri ?

@ﬂrdu.@r. LriGs (<2b) eTib.6rei. iy

(@) gmb Grarg Gevidled (FF) L&ss A

Who among the following was arrested in the Kanpur conspiracy case ?
(a) S.A. Dange (b)  M.N. Roy

(©) Ram Prasad Bismil (d) Bhagat Singh

Sdleo Qpdu Osrdbhsris srhidreder PSD FEEGUT W ?

(@) vreor eguSrmi (<) Q9. aumgwir

(8) .oy smeiv (FF) seuamiered Grem
Who was the First President of the All-India Trade Union Congress ?
(a) Lala Lajpat Rai (b) B.P. Wadia

() CR. Das (d) Jawaharlal Nehru

sTeLr sThHEl Caélw earrs Caumeamiiy e pdueliiyé s b THS <681
BleomCGoupmiiui’ L g ?

(<=1) 2007 (@%05 (@) 2008 (/) 2006
In which year Mahatma Gandhi National Rural Employment Guarantee Act was passed ?
(a) 2007 (b) 2005 (c) 2008 (d) 2006

Sermevprevl @GolliLg) :

(=) Cereflwg @& LTFTEHLETDD oIS L enLILEF Qaiwtinpesens
(@x] ppeflay wepeunn GeualliLen ssareiwei

(&) Qurgej_mbs 580sSDGL LsgudT lefllums

() Gsmedlws sbweafls s damw paprusiu@ssiudeams

Glasnost denotes

(@) restructuring of the Soviet Federal Assembly

(b) transparency and openness

(c) reinventing Communism

(d) democratisation of Communist Party of Soviet Union
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leeumeuaneudmIET 6ThES e sflwirs) QurpHSLeTaTS) ?
(1) BlawGm Gry - vosmOsRsF s _ib, 1904

(&%) Ltidld spdly sTLTe) - Syarhs Wb

(@) Sefly Caflweurs ewwid - Qeenanar

() G. slipwenflub - afligtlevdrafls sipasib

Which one of the following is correctly paired ?

(@) Lord Minto - The University Act of 1904
(b) Bankim Chandra Chatterjee - Anand math

(c) Epicentre of militant Nationalism - Madras
(d) G. Subramaniam - Dawn Society

SO0 1 Yrfeo SFETRSD smLwhp oallss OETETEmSEEILIL SlaunBlwg.

smewin :  @Quéloridar so_whp calss Gsrarmsuae Qpdwr
penenloenw Qumhmg.

rempmy &, smewTd seum).

(<) Sapmy &M, <y ammed SmyewwTDd Fapenn eSersselarane.

(&) npo), smewmd Gren(iid sau.

() &mpmy &, smewnd samhenm aflerés@Hng).

Assertion (A) The British Government pursued a policy of Free Trade (or) Laissez
faire.
Reason (R) : India had comparative advantage from England’s Free Trade Policy.

(@) (A) is correct and (R) is incorrect.

(b)  (A) is correct but (R) does not explain (A).
(c) Both (A) and (R) are wrong.

(d) (A) is correct and (R) explains (A).

&uUrey shSlr Gurev erhg oy aT(® NGRS B&sriLr L o

(<=1) 1940 (<) 1938 () 1942 &\ 1939

When was Subash Chandra Bose removed from the Congregg ? ’

(a) 1940 (b) 1938 (© 1942 @ 1939
o

Geiraumid erps ey efwrs’ Qurmbselaama o
(@) swwhwres @uésnd - m.Qeu.rr. AUl
(Epem glena <y enpi - Qradanme() ML
(8) g58wrdlys genls - Qpareor. &L tb

(r7) &all&-LGmen QUIGsD - LTsLf. DIDGLIG g1
Which of the following is not correctly paired ?

(a)  Self Respect Movement - Periyar E.V.R

(b) Lt Governor of Punjab - Reginald Dyer

(c) Sathyagraha Sabha - Rowlatt Act
(d) Dalit-Bahujan Movement - Dr. Ambedkar
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Cunrmés)s.
(1) @iCsrCamaflur () gauanierd Cpm
(2) edlug (@) grGum
B) wGsrevCemrelur (i) &I SLigeD Hrei
4) @pHwur (iv) &asirGenr

(1) (W)-Gi), -0), C)Gv), @-) (<) W)~(ii), (2-Gv), 3)-(), (4)-(i)
(@) (D)-Gv), @-Gi), @)-6) @-E) N O-v), (2)-(ii), (3)-G), @-()
Match the following :

(I) Indonesia (i) Jawaharlal Nehru
(2) Egypt (i) Tito

(3) Yugoslavia (i) Gamal Abdul Nasser
4) India (iv) Sukarno

a) (L)), 2-(), @)-(v), @)-Gi)  (b) (1)-(iii), (2-v), B)-(0). (4)-(ii)

c)  (A)-(v). @), O)-(), (4)-Gi) () (1)-(iv), (D-(iii), (B)-(i). (4)-(3)

—_—

1923 -@léb Gurgleore Grm wHmb .. srev-d Carmmelssiiug L s Hufer
QuwIT eree ?

(1) sgpHrm HL8 (b)) SWrThW S48

(@) sbwealev’ 54 () &M &8

What was the name of the Party formed by Motilal Nehru and C.R. Das in 1923 ?
(a) Swantara Party (b) Swaraj Party

(c) Communist Party (d) Ghadar Party

Qg,r@]gj)qu'l'_él (pEePSOTS cri@ Carampluigl ?

(1) Qymets (<) 2Quilssr (@) Ggioei () Qoo
The Industrial Revolution started first in :
(a) France (b) America (c) Germany (d) England

@psewli Hiamué soude @hsCsrdr Sioramismes Csman® absai -
(1) eudaLm uGLe (<) @QurGgbélr Wrers

(@) GuerraT HAHD Somh oy g ) pouaniened Crm

The objectives Resolution before the Copgtituent Assembly was placed by :

(a) Vallabh bhai Patel (b) Rajendra Prasad

(c) Maulana Abul Kalam Azagq (d) Jawaharlal Nehru
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suureilu sLpumLow SQwiss gsdu Hriie SLHU L CaMH&14586m10

GumfleorgL.
(@) o> sromdlen () AL Len (@) 1B Ce
The US navy defeated the Japanese navy in the Battle of :
(a) El Alamein (b) Britain () Midway

(FF) GUTL&are)

(d) Guadalcanal

Spésam_aupile ergl elwranGLr Lmeflendlufen gaflud Gaama ?
(=1) Granadlem (<) Quiradlem <ol 8l gL
@) wGLrameyd GPHeaSU|D () @mé emosl

Which one of the following was not the work of Leonardo da Vinci ?

(a) Mona Lisa (b) Virgin of the Rocks

() Madonna and Child (d) Last Supper
“gwrrRWD arerg Wpuyflen, sioms sioLbts SeGeaue” - arars Falieur :
(1) surey sHSlr Gumey (s53) LT SRIGTST SlesT

(@) urpSlumm () srgruml GperGrrel]

“Swaraj is my birth right and I shall have it” was said by :

(a) Subash Chandra Bose (b) Bala Gangadhar Tilak
(c) Bharathi (d) Dadabhai Naoroji

Spssramuaaupmier appT® @wUBTOsT FEHND eihish wdssaidma ?
(<) ueCaiflwr

(<=1) BIHSS |
(/) <evdlflw - anmGs

(qu.f}é&@l;rrr
Which one of the following was not part of Central Powers ?

(a) Turkey (b) Bulgaria

() Montenegro (d) Austria - Hungary

Qe BLBSSI.
(<) 1789, @29y 5
1789, 29amay 14

ureviged Slenp S&TUY
(21) 1789, meubum 11

(@) 1789, G 1

The storming of the Bastille happened on _
(b) June 5, 1789

(a) November 11, 1789
(d) July 14, 1789

(c) Mayl, 1789
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Wemaumid Hlspeysefien siflwimer aflmseanus Gsiray Qas.
() @pdu Ceflu Grramaud Bgrar efsmyenean

() Gmrg HLeuGs®S BITET

(i) <<psevl CsTenL

(iv) g@ﬂpurr E‘Q')QU.INE]U'&BLD

(1) (iid), (iv), (é.‘-_l:) (1) (11) (iii), (iv)
(@) ¢ IV) ( ) (FF) (i), (i), (i), (iv)
Which is the correct sequence of the followmg events ?

() LN.A. Trial
(i) Direct Action Day

(iii) August offer

(iv) Individual Sathyagraha

(a) (i), (iv), (3), (i) (b) (), (i), (i), (iv)
(© () @), (i), (i) (d) (i), (1), (ii), (iv)

Qm prd Qsraraseu wsaapsadle Aaran® ebSeT :

(1) pawg Gsure (<) @rrgred

( @')Wgr‘r cur&liT amaer () pmbCs Q&6lLramme(H
The “Two Nation Theory” first came from :

(a) Mohammad Igbal (b) Rajaji

(c) Sir Wazir Hasan (d) Ramsay MacDonald

QrraGsr - Wrepwl CUIT e (Heurss STFERTLOTS efleriidlwig <G L.
(1) 9CT& 2 L GoTLIIG SeNS

(<) SmelLer LB

(@) 2i6Csav, Gorearer LGHamard sL_(HLLbSSIuED TBS FiFema

) eTibeD P

The Franco - Prussian war was triggered by :

(a) The treaty of Prague

(b) Convention of Gastein

c)
(d) Ems telegram

Dispute over the control of Alsace-Lorraine
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